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1.  Joanna has to fill bags with grit from a container. The container holds                                                                              

3 1/3 kg of grit. Each bag holds ¼ kg of grit. How many full bags of grit 

can Joanna get from the container? Write your answer in the space below. 

 

 ____________________ bags 

 

2.        Complete each number statement below by writing the correct number in 

the space. 

(a) 4.35 kg = __________g 

 

(b) 3209g =  __________kg 

 

3. Beef costs £7.40 for a kilogram. 

 How much does 750 grams of beef cost? 

 Write your answer in the space below. 

 

 £____________________ 

 

 

4. Tea costs £6.90 per kilogram. How much would 400g cost? Write your 

answer in the space below.  

 

 £____________________ 

 

5. A cream bun weighs 36 grams. Only 25% of its weight is cream. How 

many grams of cream are in 50 cream buns? Write your answer in the space 

below. 

 

 ____________________g 
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6. Steak costs £9.40 for a kilogram. 

 How much does 250 grams of steak cost? 

 Write your answer in the space below. 

 

 £____________________ 

 

 

7. Margaret has to fill bags with compost from a container. The container 

holds 4 1/4 kg of compost. Each bag holds 1/3 kg of compost. How many 

full bags of compost can Margaret get from the container? Write your 

answer in the space below. 

 

 ____________________ bags 

 

8. A sausage roll weighs 75 grams. Only 20% of its weight is pastry. How 

many grams of pastry are in 60 sausage rolls? Write your answer in the 

space below. 

 

 ____________________g 

 

9. Coffee costs £7.90 per kilogram. How much would 700g cost? Write your 

answer in the space below.  

 

 £____________________ 

 

10. Complete each number statement below by writing the correct number in 

the space. 

(a) 7.35 kg = __________g 

 

(b) 7689 g =  __________kg 
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